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A -3.52|H/kWh

2023548 ~202356 A F D B SZ#fHmHE

-4.24

F/kWh

EAE B

0173 M

A: 1K1Y O F R im g 71,537 M o 0.1874
B: 1t&H =Y DT HLNGIEE 89,884 M 0.0899
C: 1tdp1=Y DFEH A ERMHE 34,685 M Y 1.0036
FEHRFMER = Axa +BxB +VXy =56300M  (100AKEMEERA)

(2) B —/N\—Y )L Y —E R E fi = (B & F R #HT 4% —79,300M) x E £ B {fi — 1,000

2023548 ~202356 A Fi D B SZ#fHmHE

-0.01

F/kWh

EAE B

0.001 M

A: 1KY O FH R im g 71,537 M 1.0000
B: 1t&H =Y DT HLNGIEE 89,884 M 0.0000
C: 1tdp1=Y DFEH A ERMHE 34,685 M Y 0.0000
S TFHMFMER=AXxa +BX B + VX y=71500  (100AK&EMEERA)

Q) HENFAREREM=A<BOEE. HEHFAREM=(A—B)xDx(1+H&FZHK)
A>CODIGE ., ENRABEM=(A—C)xDx(1+HEMRZEK)

0.00

0.73

A BTADTYTZITSARATEHE-(1-18KE) x AR 14.95
B: RITIRAEEAER(E (Fitk) 8.00
C: BNNFREEELE R (Fitk) 14.00
D: ®EAE 70%
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PR EERERE=1)RHEABREE+ QBRI N\— )L —E R FAREE + QAT H B E
= FiA -4.96|H/kWh

(1) BR B B 2 Bl = (29 R BHEi4% — 83,500 ) x BB {fi 1,000 = ~5.46|H/kWh
202348 ~202356 A T D & Hiffatlg
A: 1K1Y O F R im g 71,537 A o: 0.0259 i 0.197 A
B: 1t&H =Y DT HLNGIEE 89,884 M B: 0.2563
C: 1tH1=Y DA Fifhite 34,685 A Y 0.8915

EHREMER = Axa +Bx S8 + VX y = 55800 H (100 REEERAN)

(2) BB /N—Y LY —E R E T = (B ST ARMER% —79,300M) x Z#EE(H+1,000 = -0.01|F/kWh
2023548 ~202356 A T D & Hiffatlg

A: 1KY O FH R im g 71,537 A o: 1.0000 i 0.001 M
B: 1t&H =Y DT HLNGIEE 89,884 M B: 0.0000

C: 1tH1=Y DA FifhitE 34,685 A Y 0.0000

EETEMREMEKR=AXxao +BXx S8 + VX y= 71500 (100 KEEERAN)

Q) HNENREHEM=A<BDZE. HENRABEM=(A—B)XxDx(1+HEHRE) = 0.00|F/kWh
A>SCOIGE . HENRERM=(A—C)XxDx(1+HERE) = 0.51|F/kWh
A BTADTYTZITSARATEHE-(1-18KE) x AR 14.67 BADI)7ISAREWE 12.20
B: ETaABEEEM (Fik) 7.00 BxE 8.5%
C: BNEREEEAEEH (FHik) 14.00 R 110%
D: MEAE 70%
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MHBERBHEM=RHEREEME QMBI =/ \—Y )L Y —E XA E{E +(3)H1E H IR EE B

= Bixd ~4.22|M/kWh
(1) BR B B 2 Bl = (2R BHEi4% — 86,100 ) x BB {fi 1,000 = ~5.22|H/kWh
202348 ~202356 A T D & Hiffatlg
A: 1K1Y O F R im g 71,537 A o 0.0048 i 0.183 [
B: 1t&H =Y DT HLNGIEE 89,884 M 0.3827
C: 1tH1=Y DA Fifhite 34,685 A Y 0.6584
FEHRRFMER = Axa +BxB +VXy =57600M  (100AXREMEERA)
(2) BB /N—Y LY —E RFAEEH = (B ST HARMER —0F) x EAEH(Hi+1,000 = 0.00J 4 /kWh
2023548 ~202356 A T D & Hiffatlg
A: 1KY O FH R im g 71,537 A 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 89,884 M 0.0000
C: 1tH1=Y DA FifhitE 34,685 A Y 0.0000
ST RFMER=AXxa +BXB +VXy=0H (100K EFE R A)
Q) MENRBEEM=A<BDGE. HENHBEM=(A—B)XDx(1+HEHBE) = 0.00JF4/kWh
ASCOIZE ., HENRAERM=(A—C)xDx(1+HEMRE) = 1.00|F/kWh
A: BTRDIVTZISARFEHE (118K E) x AR 15.30 RADTYT7ISAXEHIE 12.95
B: RITIRAEEAER(E (Fitk) 7.00 =P 6.9%
C: BNNFREEELE R (Fitk) 14.00 RER 110%
D: ®EAE 70%
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MHBERBHEM=RHEREEME QMBI =/ \—Y )L Y —E XA E{E +(3)H1E H IR EE B

= Bixd 4.71|M/kWh
(1) BR B B 2 Bl = (2R BHEi4% — 45,900 ) x BB {fi 1,000 = 3.26|F/kWh
202348 ~202356 A T D & Hiffatlg
A: 1K1Y O F R im g 71,537 A o 0.0275 i 0.233 [
B: 1t&H =Y DT HLNGIEE 89,884 M 0.4792
C: 1tH1=Y DA Fifhite 34,685 A Y 0.4275
FEHRRFMER = Axa +BxB +VXy =59900H  (100AKEMERA)
(2) BB /N—Y LY —E RFAEEH = (B ST HARMER —0F) x EAEH(Hi+1,000 = 0.00J 4 /kWh
2023548 ~202356 A T D & Hiffatlg
A: 1KY O FH R im g 71,537 A 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 89,884 M 0.0000
C: 1tH1=Y DA FifhitE 34,685 A Y 0.0000
ST RFMER=AXxa +BXB +VXy=0H (100K EFE R A)
Q) MENRBEEM=A<BDGE. HENHBEM=(A—B)XDx(1+HEHBE) = 0.00JF4/kWh
ASCOIEE . HENREBEM=(A—C)xDx(1+HERE) = 1.45|F/kWh
A: BTRDIVTZISARFEHE (118K E) x AR 14.88 RADTYT7ISAXEHIE 12.57
B: RITIRAEEAER(E (Fitk) 5.00 BEE 7.1%
C: BNNFREEELE R (Fitk) 13.00 RER 110%
D: ®EAE 70%
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MHBERBHEM=RHEREEME QMBI =/ \—Y )L Y —E XA E{E +(3)H1E H IR EE B

= BiA -4.32|M/kWh
(1) AR ER B Bl = (IR RHEI% — 79,800 ) x E#EBi{Hi 1,000 = ~4.42|H/kWh
202344 A ~20234F6 A FH D E HfsHEE
A KB T=Y DO F YRR 71,537 M o 0.0415 EAEETH 0.165 M
B: 1tH1=Y D FHILNGIEE 89,884 M 0.0745
C: 1tdH1=Y DFEH A HEAME 34,685 [ 7 1.2499
EHMEMER = AXa +Bx B +Vxy =53000H  (100AKFEMBEA)
(2) S N—YIILY—E XA = (B ST HMRFMER —0F) x BAEHH 1,000 = 0.00|F4/kWh
202344 H ~20234F6 A FH D E HfsHEE
A: 1KIEB =Y O F 1 R il 71,537 M a 0.0000 HAEBMH 0.000 M
B: 1tH1=Y D FHILNGIEE 89,884 M 0.0000
C: 1tdH1=Y DFEH A HEAME 34,685 M Y 0.0000
ST REMEER=AXxa +BxB +Vxryr=0H (100ARFHEIERA)
Q) MIENAEEM=A<BDHZE. HIENABEM=(A—B)XxDX(1+HEHRF) = 0.00JF4/kWh
A>SCOIGE . HENRAEEM=(A—C)xDx(1+HEME) = 0.10]F4/kWh
A BTADTYTZTSAREHE-(1-18KEK) x AR 13.14 BADIYTISAREHIE 11.01
B: ETAREEEM (Fik) 5.00 BkE 7.8%
C: BANFAEELE M (Fiik) 13.00 REE 110%
D: #®EAE 70%
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MHBERBHEM=RHEREEME QMBI =/ \—Y )L Y —E XA E{E +(3)H1E H IR EE B

R D15kWhET BiaA 75.59|M
EEList Bl 5.04|F/kWh
(1) BARE ER B Bl = (29 BHEI4% —27,100M) x BB {fi 1,000 = RHD15kWhET 74.99|M
2023548 ~202356 A T D & Hiffatlg EEELIS 5.00|F1/kWh
A: 1KY O FH R im g 71,537 A o: 0.0140
B: 1t&H =Y DT HLNGIEE 89,884 M B: 0.3483 ~ 15kWhEE % B {ffy 2475 M
C: 1tH1=Y DA Fifhite 34,685 A Y 0.7227 16kWh~ Z£#£ B {fy 0.165 M

EHREMER = Axa +Bx S8 + VX ¥y = 57400 H (100 REEERAN)

(2) BES1=/N\—H )L Y —E XA E Al = (B S F 9 PHER —0F) x EAEH(fi+1,000 = 0.00|F4/kWh
202344 A ~202346 A TH D & S aHilits
A: 1k T=Y O F R4 71,537 M a: 0.0000 EAEEH 0.000
B: 1t&H7=Y DT HILNGHT4E 89,884 M B: 0.0000
C: 1tHf=YDFEHFR{HEE 34,685 M 7 0.0000
BETHREMEE=AXxa +BxB +Vxy=0H (100MKFHEIERA)
) HENFAREEM=A<BDIHZE . HENAREM=(A—B)xDx(1+HEHRE) = 0.00|F3/kWh
A>COIGE . HENRERM=(A—C)XxDx(1+HERE) = 0.04|F/kWh
A BTADTYT7ITSARATEHE-(1-18KE) x AR 13.05 BADI)T7ISAREWE 10.94
B: ETaABEEEEM (Fik) 5.00 BxE 7.8%
C: BfNEREEEAEEE (FHik) 13.00 R 110%
D: MEAE 70%
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MHBERBHEM=RHEREEME QMBI =/ \—Y )L Y —E XA E{E +(3)H1E H IR EE B

R D15kWhET BiaA -85.81|M
EEList Bl -5.71|F/kWh
(1) BR B B 2 Bl = (298 BHEi4% — 80,300 ) x R #EBI{fi 1,000 = RHD15kWhET -85.68|M
2023548 ~202356 A T D & Hiffatlg EEELIS ~5.70|F/kWh
A: 1KY O FH R im g 71,537 A o: 0.0406
B: 1t&H =Y DT HLNGIEE 89,884 M B: 0.0992 ~ 15kWhEE % B {ffy 3.185 M
C: 1tH1=Y DA Fifhite 34,685 A Y 1.1994 16kWh~ Z£#£ B {fy 0.212 M

EHREMER = Axa +Bx S8 + VX y = 53400 H (100 REEERAN)
| EERDNR D 15kWhET

(2) BB /N—Y LY —E R E T = (B ST ARMERE —79,300M) x Z#EE(H+1,000 = ~0.13|F/kWh
2023448 ~202356 A T D & Hiffatlg -0.01|F/kWh
A: 1K1Y O F R im g 71,537 A o: 1.0000 T FEA LR LS
B: 1t&H 7Y DT HLNGIEE 89,884 M B: 0.0000 ~ 15kWhEE % B fffy 0.017 M
C: 1tH1=Y DA Fifhits 34,685 A Y 0.0000 16kWh ~ E£ % B4 0.001 M

EETEMREMEKR=AXxao +BXx S8 + VX y= 71500 H (100 REEERAN)

Q) HNENFEEM=A<BDZE. HENRABEM=(A—B)XxDx(1+HEHRE) = 0.00|F/kWh
A>COIGE . HENRERM=(A—C)XxDx(1+HERE) = 0.00|F/kWh
A BTADTYT7ITSARATEHE-(1-18KE) x AR 12.95 BADI)T7ISAREWE 10.83
B: ETaABEEEEM (Fik) 5.00 BxE 8.0%
C: BfNEREEEAEEE (FHik) 13.00 R 110%
D: MEAE 70%
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MHBERBHEM=RHEREEME QMBI =/ \—Y )L Y —E XA E{E +(3)H1E H IR EE B

BEHD1kWhET Bisd -44.04|H
EEList Bl —4.00|F/kWh
(1) BR B B 2 Bl = (298 BHEi4% — 80,000 ) x EAEBi{fi 1,000 = RHDIKWhET -44.04|M
2023548 ~202356 A T D & Hiffatlg EEELIS ~4.00|F/kWh
A: 1KY O FH R im g 71,537 A o: 0.0875
B: 1t&H =Y DT HLNGIEE 89,884 M B: 0.0770 ~11kWhE B 1.694
C: 1tH1=Y DA Fifhite 34,685 A Y 1.1770 12kWh~ ZE#£ B {fy 0.154 [

EHREMER = Axa +Bx S8 + VX ¥y = 54000 H (100 REEERAN)

(2) S =/N\—H )L Y —E RFRBE = (B S F 98T —79,300F) x EAEH(fi+1,000 = 0.00|F4/kWh
202344 A ~202346 A TH D & S aHilits
A: 1k T=Y O F R4 71,537 M a: 0.0000 EAEEH 0.000
B: 1t&H7=Y DT HILNGHT4E 89,884 M B: 0.0000
C: 1tHf=YDFEHFR{HEE 34,685 M 7 0.0000
BETHREMEE=AXxa +BxB +Vxy=0H (100MKFHEIERA)
) HENFAREEM=A<BDIHZE . HENAREM=(A—B)xDx(1+HEHRE) = 0.00|F3/kWh
A>COIGE . HENRERM=(A—C)XxDx(1+HERE) = 0.00|F3/kWh
A BTADTYT7ITSARATEHE-(1-18KE) x AR 11.42 BMADI)7TSAREHE 9.54
B: ETaABEEEEM (Fik) 5.00 BxE 8.1%
C: BfNEREEEAEEE (FHik) 13.00 R 110%
D: MEAE 70%
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[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

onji
cu

PR EERERE=1)RHEABREE+ QBRI N\— )L —E R FAREE + QAT H B E
= FiA 3.65|H/kWh

(1) BRHE BR 2E Bl = (2R BHEi4% — 27,400M) x B #EB{fi 1,000 = 3.67|F/kWh
202348 ~202356 A T D & Hiffatlg
A: 1K1Y O F R im g 71,537 A o: 0.0053 i 0.136 [
B: 1t&H =Y DT HLNGIEE 89,884 M B: 0.1861
C: 1tH1=Y DA Fifhite 34,685 A Y 1.0757

EHREMER = Axa +Bx S8 + VX ¥y = 54400 H (100 REEERAN)

(2) BB /N—Y LY —E R E T = (B ST ARMER% —79,300M) x Z#EE(H+1,000 = -0.02|F/kWh
2023548 ~202356 A T D & Hiffatlg
A: 1KY O FH R im g 71,537 A o: 1.0000 i 0.003 [
B: 1t&H =Y DT HLNGIEE 89,884 M B: 0.0000
C: 1tH1=Y DA FifhitE 34,685 A Y 0.0000

EETEMREMEKR=AXxao +BXx S8 + VX y= 71500 (100 KEEERAN)

Q) HNENREHEM=A<BDZE. HENRABEM=(A—B)XxDx(1+HEHRE) = 0.00|F/kWh
A>SCOIGE . HENRERM=(A—C)XxDx(1+HERE) = 0.00|F/kWh
A BTADTYTZITSARATEHE-(1-18KE) x AR 12.07 BADI)7ISAREWE 10.03
B: ETaABEEEM (Fik) 5.00 BxE 8.6%
C: BNEREEEAEEH (FHik) 13.00 R 110%
D: MEAE 70%




